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Chapter 7 : Industries 

Level-I 

1. Which state is the largest producer of cotton textile industry? 

 (A) Maharashtra  (B) Gujarat  (C) Tamil Nadu (D) West Bengal 

    

2. Tata Iron and Steel company started in 1907 at ________ 

 (A) Jamshedpur (B) Burnpur  (C) Durgapur  (D) Rourkela 

 

3. Which is the basic raw material for iron and steel industry? 

 (A) Coal   (B) Iron ore 

(C) Both (a) and (b)  (D) None of the above 

 

4. The first aircraft industry was set up at Bangalore in ______ 

 (A) 1940  (B) 1950  (C) 1930  (D) 1960 

 

5. Which of the following is the government undertaking responsible for steel 

plant management?  

(A) Indian Iron & Steel Company  (B) Steel Authority of India  

(C) Tata Iron and Steel Company  (D) Mysore Steel Works 

 

Level-II 

6. Which among the following  is not a non-geographical factor that influences 

location of industries? 

 (A) Capital     (B) Transport   

(C) Government Policies   (D) Banking facilities  

 

7. Consider the following statements about silk industry :  

(i) India is the only country that produces all the five types of silk. 

(ii) Golden yellow mug silk is unique to India. 

Which is correct? 

(A) (i) only    (B) (ii) only   



NATRAJ INSTITUTE OF TNPSC 
A Specialized Institute with Shortcut Ideas 

 

CHENNAI ~ SALEM ~ TIRUNELVELI ~ THANJAVUR 

9791885670 

(C) Both (i) and (ii)   (D) Neither (i) nor (ii) 

8.  Match the following :  

Shipyard 

(A) Hindustan Shipyard      (B) Cochin Shipyard 

(C) Hooghly Dock    (D) Mazagon Dock 

City :  

1. Mumbai     2. Kolkata    3. Kochi      4. Vishakapatnam 

Codes: 

A B  C D  

(a)  4  3  2  1  

(b)  1  2  3  4  

(c)  3  2  4  1  

(d)  4  2  3  1  

 

9.  Consider the following : 

(i) The first lead smelting plant was set up in Bihar. 

(ii) There are four zinc smelters in the country. 

Which is not true? 

(A) (i) only    (B) (ii) only   

(C) Both (i) and (ii)   (D) Neither (i) nor (ii) 

 

10. Consider the following : 

(i) India ranks second after Japan in shipping tonnage. 

(ii) Always plant in Kerala  is one of the zinc smelters in the country. 

Which is correct? 

(A) (i) only    (B) (ii) only   

(C) Both (i) and (ii)   (D) Neither (i) nor (ii) 

 

Level-III 

11. Consider the following statements about Woollen textiles? : 
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(i) It is one of the oldest textile industries dating as far back as Indus Valley 

civilization. 

(ii) Punjab is the leading producer. 

Which is correct? 

(A) (i) only    (B) (ii) only   

(C) Both (i) and (ii)   (D) Neither (i) nor (ii) 

 

12.  Consider the following about the copper industry: 

(i) Copper is produced only at two centers, Singhbum and Jhunjhunu districts. 

(ii) Hindustan Copper Limited is the sole producer of copper in the country. 

Which is correct? 

(A) (i) only    (B) (ii) only   

(C) Both (i) and (ii)   (D) Neither of them 

 

13.  Consider the following about the aircraft industry: 

(i) The first aircraft industry was set up at Bombay. 

(ii) It was set up under the name Hindustan Aircraft Ltd.? 

Which of the following is not correct? 

(A) (i) only    (B) (ii) only   

(C) Both (i) and (ii)   (D) Neither of them 

 

14.  Match the companies with the place it was established :  

Companies: 

(A) TISCO      (B) General Motors 

(C) Hindustan Aircraft Ltd.  (D) Indian Iron and Steel Company 

Place :  

1. Burnpur     2. Bangalore   3. Bombay    4. Jamshedpur 

Codes: 

A B  C D  

(a)  4  3  2  1  
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(b)  3  4  1  2  

(c)  1  2  3  4  

(d)  2  1  4  3  

 

15.  Iron and Steel Industries are located _________ 

 (A) Near coal fields 

(B) Near iron ore mining centers 

(C) Places between coal and iron ore production 

(D) All the above. 

 

ANSWER KEY 

1. (A)  2. (A)  3. (C)  4. (A)   5. (B)  6. (B)        7. (C) 

8. (A)  9. (B)  10. (C) 11. (C) 12. (D) 13. (A)  

14. (A)  15. (D) 


